AREA L.E.G.S. MINUTES – AUGUST 21, 2022



Show your gratitude for N.A. be a part of the decision-making process.

Nominations/Elections are needed for the following interim positions: Secretary Assistant, Activities Vice-Chair, RCM, RCM Alternate and Public Relations Vice-Chair.

Nominations/ Elections are needed for the following BRSCNA Regional positions: Vice-Chair, Assistant Secretary, Assistant Treasurer, RD, RD Alternate, H&I Chair and Literature Chair. Service begins in June and will be voted on thereafter until the positions is filled.

AREA L.E.G.S. INFORMATION

AREA L.E.G.S. P.O. BOX 5674 Cleveland, Ohio 44101

AREA L.E.G.S. MINUTES Available online at: www.legsna.org

ALL MEETINGS LISTED ARE LISTED ON OUR WEBSITE**

All group updates are to be sent to the website by email: webmaster@legsna.org

BACK TO GROUPS/MOTION: – NONE

OTHER MOTIONS - Page[s] 4

MONEY OWED TO AREA L.E.G.S./GROUPS: Adrianne W. - Phillip A. - Saffiyyah A.H. - Kevin G.

Executive Committee Contacts:

ASC Chair: Michelle B. 216-647-3272/ michellebivins@yahoo.com

ASC Vice-Chair: Craig D. 216-659-1916/dunsoncraig@gmail.com

ASC Secretary: Robin Y. 216-233-3435/ mrs.robin.young@gmail.com

ASC Secretary Assistant:

Regional Committee Member:

Regional Committee Member Alternate:

Treasurer & Treasurer Assistant: Donations/Funds can be sent - Mail to P.O. Box 5674 or through Zelle via webmaster@legsna.org please include group name purpose/information on memo line.

AREA LEGS SUBCOMMITTEE CONTACTS										
ACTIVITIES	HOSPITALS & INSTITUTIONS	LITERATURE								
Jacqueline J. 216-906-1481	Tonya H. 216-612-4451	Thurman B. 216-258-1928								
	Keith L. 216-213-8754	Tracy S. 216-240-7538								
MERCHANDISE	POLICY	PUBLIC RELATIONS								
Sonja B. 216-612-5938	Ruby K. 216-240-0926	Marvin M. 216-253-4506								
Lawrence B. 216-268-9466	Bruce H. 216-418-7310									

- Meeting opened with a moment of silence followed by the Serenity Prayer.
- Twelve Traditions read by: Walt Mc.
- Twelve Concepts read by: Stan G.
- Ninth Tradition Explanations read by: Ali A. .
- Three minute application of the Eleventh Step.
- **First Polling** of the GSR's: 9

Are there any Groups with issues, concerns, or who would like to be recognized for New Business?

ASC GUIDELINES ARE READ QUARTERLY.
Secretary's Report: Robin Y.
Motion to accept report Seconded by
For 7 Against 1 Abstentions 0 Report: Passed.
Treasurer's Report: Gina W-H.
Motion to accept report Seconded by
For 7 Against 0 Abstentions 1 Report: Passed.
Hospitals & Institutions Subcommittee: Tonya H.
Motion to accept report Seconded by
For 8 Against 0 Abstentions 0 Report: Passed.
Policy Subcommittee: Ruby K [Unofficial Report Include
Public Relations Subcommittee: Marvin M. & Charles B.
Motion to accept report Seconded by
For 9 Against 0 Abstentions 0 Report: Passed.
Activities Subcommittee: Jacqueline J.
Motion to accept report Seconded by
For 8 Against 0 Abstentions 0 Report: Passed.
Literature Subcommittee: Thurman B. & Tracy S.
Motion to accept report Seconded by
For 7 Against 0 Abstentions 0 Report: Passed.
Total Sales of funds turned in this month \$ 2,301.80.
BRSCNA Report: June 2022 approved to be included.
Absences: <u>Unwarranted/Warranted</u>
Ruby K. 1 not at ASC meeting August 2022.
Tracy S. ½ unwarranted
Craig D. Work-related - warranted.
Thurman B Family matter - warranted.

Fliers: Any provided were sent to the website.

* NO BREAK *

Reopen Meeting: Moment of silence followed by the Serenity Prayer.

Second Polling of the GSR's: 8

Old Business:

A. Motion back from groups pertaining to H&I Guidelines -

Vote Tally: $\underline{3}$ For - $\underline{0}$ Against - $\underline{1}$ Abstention - $\underline{4}$ Did not vote at group.

B. Congratulations to:

Robin Y. - ASC Secretary Marcella W. - ASC Treasurer Assistant

Keith L. - H&I Vice-Chair Bruce H. - Policy Vice-Chair

Sonja B. - Merchandise Chair Lawrence B. - Merchandise Vice-Chair

New Business/Group Concerns:

A. Ali A. addressed the issue pertaining to check for our bond not being cleared and an electronic payment due by September 6, 2022.

- B. Treasurer concerns Compass Storage price increased from \$97.00 to \$117.00 and the voting body voted to keep location 8 For 0 Against 0 Abstention **Passed**.
- C. Wake Up & Live GSR asked about group banners turned over to the ASC no disposition.
- D. More Will Be Revealed GSR asked about going back to paper Minutes and she was directed to take it back to her home group for discussion.
- E. H&I Chair mentioned we currently only have women facilities and men joining and training requirements per the guidelines and what can be done contact facilities with Chair in attendance.
- F. Literature Vice-Chair requested budget of \$1500.00 to be filled approved
- G. Activities Chair stated brought back a total of \$425.38 from the NA Birthday Celebration and each Area is owed \$8.00. She also discussed about looking into a paying a deposit for a location or next year's NA Birthday Celebration someone stated it was too soon; to wait until January2023. She also talked about taking the items from the "NA Celebration" to the Labor Day marathon.
- H. Public Relations Vice-Chair submitted a letter of resignation.
- I. Web-Servant informed all members present that he is willing to meet with anybody to show them how to navigate through our website.
- J. Bruce H. Literature concerns schedules should be be purchased by individual members instead of taking pictures of it they can be downloaded from the website.
- K. Newly elected Merchandise Chair made a motion, due to it being "Out-of-Order" it cannot be posted due to violation of ASC Guideline #1 and the second being made by a non-voting member [Ronnie C.] and although he is an alternate {New Attitudes} the GSR was present and seated at the table. The motion will be brought back to the ASC to be readdressed.

Meeting closed with a moment of silence and the Serenity Prayer.

Ended at: approximately around 6:35pm.

In Service to Area LEGS,

Robin Y. ASC Secretary

"ALL REPORTS RECEIVED INCLUDED"

PLEASE CHECK WEBSITE FOR CURRENT FLIERS

LAKE ERIE GENERAL SERVICES _e	
SUBCOMMETTER REPORT NAME: MOTION by SONJAB that folicy Subcannittee New Motion by SonJaB that folicy Subcannittee New Motion by SonJaB that folicy Subcannittee Stot for Marchardise being at 12P, TOOS 1:00 pm	•
Explanation!" TEADITION 5-CARD THE ALESSONS	
Business halead of Policy	
Passed For: 6 Against: 0	
Date:	

bus. 6-0

1

AREA L.E.G.S. – Lake Erie General Services®



Motion Made On The Area Floor

Motion with an explanation:

By: Sonja B, Second by Ronnie C

That Policy Subcommittee review the ASC Subcommittee schedule with a time slot for Merchandise being at 12p-1p.

Explanation: Tradition 5 – Carry the message.

Voted Business

For: 6, Agnst: 0, Abst: 0

Passed!



DUE TO FAMILY RESPONSIBILITIES

I, CHARLES B., AM UNABLE TO FULLING MY COMMITTIMENT AS PUBLIC RELATIONS

VICE - CHAIR. THANK YOU FOR THE DPPORTUNITY TO SERVE.

ALMANDES B.

AUGUST 21,2022

PR VICE-CHAIR RESIGNATION LETTER AUGUST 22

AREA L.E.G.S. – Lake Erie General Services®



LETTER OF RESIGNATION

POSITION RESIGNING: Public Relations Vice-Chair

Due to family responsibilities I, Charles B. am unable to fulfill my commitment as Public Relations Vice-Chair. Thank you for the opportunity to serve.

FIRST NAME & INITIAL: CHARLES B.

AUGUST 21, 2022

Original letter on file with ASC Secretary [RY]

AREA [L.E.G.S.] LAKE ERIE GENERAL SERVICES®

AREA [L.E.G.S.] LAKE ERIE GENERAL SERVICES										
NAME of GROUP	NAME of REPRESENTATIVE	1st TALLY	NEW BUS	2nd TALLY	REPOR					
A CHANCE TO LIVE										
A SIMPLE WAY										
BEDFORD MIRACLES										
EAST CLEVELAND RECOVERY										
END OF THE ROAD RECOVERY										
FIRST STEP 2 RECOVERY										
FRONTLINE RECOVERY										
HAPPY JOYOUS & FREE	Vivian W.	Х								
HOW ON SATURDAY NIGHT										
JUST FOR TODAY										
MESSAGE OF HOPE PROMISE OF FREEDOM										
MIDTOWN RECOVERY										
MIRACLES ON MT. CARMEL										
MORE WILL BE REVEALED ON SUNDAY	Antoinette B.	Х	Х	Х	Х					
NEW ATTITUDES	Ray M.	Х		Х	Χ					
NO MATTER WHAT										
OUR PRIMARY PURPOSE ON SATURDAY										
PEACE IN THE VALLEY	Ali A.	Х	Х	Х						
PURE NA GROUP										
RAY OF HOPE GROUP										
RECOVERY BY THE RAPID										
RECOVERY ON 105										
SERENITY ON SUNDAY MORNING	Archie T.	Х		Х						
SPIRITUAL AWAKENINGS										
SPIRITUAL FOUNDATION	Diane S.	Х		Х						
ST. CLAIR RECOVERY										
STEP GUIDE DISCUSSION GROUP OF NA										
THANK GOD I'M FREE	Stan G.	Х		Х	Х					
THE JOURNEY CONTINUES										
THERE'S A WAY OUT										
WAKE UP & LIVE	Ken D.	Х	Х	Х						
WE ARE REACHING NEW HEIGHTS	Tammy H.	Х		Х						
WITH OUR WILLINGNESS										
DATE: <u>August 21, 2022</u>	GROUP REPRESENTATIVES \rightarrow	<u>9</u>		<u>8</u>	<u>4</u>					

AREA {L.E.G.S.} LAKE ERIE GENERAL SERVICES®



COMMITTEE MEMBER SERVICE POSITION	ASC COMMITTEE REPRESENTATIVE NAME	ATENDED MEETING	NEW BUSINESS	REPORT INCLUDED
AREA CHAIRPERSON	Michelle B.	Х		
AREA VICE-CHAIRPERSON	Craig D.			
AREA SECRETARY	Robin Y.	Х	Х	Χ
AREA ASSISTANT SECRETARY				
AREA TREASURER	Gina W-H.	Х	Х	Х
AREA TREASURER ASSISTANT	Marcella W.			
ACTIVITIES CHAIRPERSON	Jacqueline J.	Х	Х	Χ
ACTIVITIES VICE-CHAIRPERSON				
HOSPITALS & INSTITUTIONS CHAIRPERSON	Tonya H.	Х		Х
HOSPITALS & INSTITUTIONS VICE-CHAIRPERSON	Keith L.			
LITERATURE CHAIRPERSON	Thurman B.			
LITERATURE VICE-CHAIRPERSON	Tracey S.	Х	Х	Х
MERCHANDISE CHAIRPERSON	Sonja B.	Х		
MERCHANDISE VICE-CHAIRPERSON	Lawrence B.	Х		
POLICY CHAIRPERSON	Ruby K.			
POLICY VICE-CHAIRPERSON	Bruce H.	Х		
PR/PHONELINE CHAIRPERSON	Marvin M.	Х	Х	Х
PR/PHONELINE VICE-CHAIRPERSON	Charles B.	Х	Х	
REGIONAL COMMITTEE MEMBER				
REGIONAL COMMITTEE MEMBER ALTERNATE				
AD-HOC CHAIRPERSON				
WEB-SERVANT	Walt Mc.		Х	
ASC ADVISORY MEMBER REPRESENTATIVE				
	ATTENDEES			
Ronnie C (New Attitudes GSR Alt)				
Robin Y.				
Sonja B.				
Koder J.				
Lawrence B.				
Marcella W.				
Bruce H.				

Date: August 21, 2022

AREA L.E.G.S. – LAKE ERIE GENERAL SERVICES®



H & I Subcommittee Report

08/14/2022 @ 3:45pm-5:15pm Chairperson: Tonya H.

Attendance: 12

Opened meeting with Moment of Silence

12 Traditions read by: Keith L.12 Concepts read by: Cecelia S.

One minute application of 11th Step was observed Subcommittee's Purpose was read by: Walt M.

GROUP REPORTS

➤ Brenda O. – Read and Accepted

Q&A: Ruby asked Brenda was her term up....Brenda answered "Yes" and is willing to recommit.

Q&A: Walt asked Brenda was facility shut down due to Covid...Brenda answered "Yes"

➤ Roxanne M. – Read (via face-time) and Accepted

Q&A: Ruby asked Roxanne was her term up...Roxanne answered "Yes" and is willing to recommit.

Q&A: Ali asked if Roxanne's absence was unwarranted...Ruby clarified that an unwarranted absence is considered a No Call No Show...which Tonya responded that has occurred in the past regarding the H&I Subcommittee Meeting...Ruby explained that it is NOT considered an unwarranted absence when a term is up.

Discussion: Roxanne will have to recommit in-person at the next subcommittee meeting. H&I Chairperson will contact Roxanne to let her know.

➤ Tonya H. – Read and Accepted

Q&A: Ruby asked Tonya was her term up...Tonya answered "Yes" and is willing to recommit.

OLD BUSINESS: from 07/10/22

Re: Literature – Tonya requested a budget of \$96.15 for H&I Literature. A list was given to Tracy S.

Thurman B. stated he will get the list from Tracy to fill.

Re: New Men's H&I Meeting at CATS and ALLIANCE

Discussion: John B. stated that Alliance has several traditional meetings in existence which defeats H&I purpose that states "...the initiation of meetings where traditional NA recovery is not available".

Re: CATS for men

Discussion: Ruby stated that we need to address the fact that to be a H&I Facility Chairperson we must share at 2 meetings withing the last 3 months before we are eligible to chair; but there aren't any men meetings to meet that requirement.

Re: H&I & Area LEGS Guidelines contradiction

Discussion: Ruby stated that the issue was brought to AREA and the motion to revise was sent to the Groups for votes.

NEW BUSINESS

Re: Roxanne M. reinstatement to chair at HITCHCOCK for women

Discussion: Ruby stated she must be physically present to officially be reinstated. Tonya stated that she will contact Roxanne to let her know.

Group Conscious: Extended Roxanne's commitment for 30 days.

Re: CATS for women

Brenda O. was voted in to reinstate another 6 -month term to chair CATS for women.

Re: NORA for women Tonya H. was voted into reinstate another 6 -month term to chair NORA for women.

Re: ALLIANCE for men

Discussion: We will NOT conduct an H&I meeting at the facility due to our purpose.

Re: CATS for men

Keith L. stated that he has the willingness to chair CATS for men on Friday's @ 7pm.

Keith L. was voted in to be Chairperson @ CATS for men.

Discussion: Tonya stated that she will contact CATS to discuss whether Keith can attend the CATS for women's meeting to observe or have H&I Chair conduct the men's meeting for Keith to share and observe to meet the requirement to chair at the facility.

Re: Salvation Army

Discussion: Donny L. proposed to start a H&I meeting at the facility on Tuesday's @ 7:30pm. He also has the willingness to chair the meeting.

Marvin M. and Tonya H. will contact facility to verify.

Meeting Adjourned @ 5:15pm

Closed with the Serenity Prayer



UNOFFICIAL REPORT

POLICY SUBCOMMITTEE MEETING

AUGUST 14, 2022

- 1. We opened with a moment of silence and the Serenity Prayer.
- 2. 12 Traditions Walt Mc.
- 3. 12 Concepts Antoinette B.
- 4. One-minute Application of the 11th Step.
- 5. Subcommittee Purpose & Guidelines Ruby K.
- 6. Previous minutes were read and accepted.
- 7. More Will Be Revealed motion; which was referred to the Policy Subcommittee is being sent back to the group for wording clarification.
- 8. Information from the last Policy Extended meeting was shared at this meeting.
- 9. We discussed the cancellation of our Surety Bond which needs to be reinstated by September 6, 2022 and can only be processed through electronic funds transfer [EFT] we had no clarity as to why our check for \$137.10 was not accepted and this would be brought up at the ASC meeting August 21, 2022.
- 10. Still waiting for the ASC Chair to confirm date for the Policy Learning Day. [September 24 or October 8, 2022]; a copy of both dates [fliers] were given to the ASC Vice-Chair to motivate the ASC Chair to move on this matter.
- 11. Discuss the overdue audit of the Treasury and noted previous Policy Chair had to have items in her possession moved due to a flood at her location; now the current Policy Chair needs to find out where this items are located and will try to gather them before the next meeting.
- 12. We discussed the Policy Subcommittee motion pertaining to H&I that was sent back to groups and have determined we would readdress this motion again no matter the outcome since it is in reference to a particular Subcommittee of the ASC and not to group's business. [See Back To Groups motion ASC July 2022 Minutes page 4]. Please refer to Concept 5 for clarity of readdressing this concern.
- 13. Policy Subcommittee **Overview**: ASC Service responsibilities and concerns of GSR's not questioning the business done by the Committee/Subcommittees i.e. missing report information, following our own approved Guidelines and

Procedures and addressing directions of service work I.e. guidelines pertaining to specific areas of service.

14. We closed with a moment of silence and the Serenity Prayer.

IN ATTENDANCE: [15]

Ali A. Jacqueline J. Tammy H.
Antoinette B. John B. Thurman B.
Brenda O. Keith L. Tonya H.
Cecelia S. Nap J. Ruby K.
Craig D. Phillip H. Walt Mc.

Humbly Submitted, Policy Subcommittee

PS. I apologize if the information is not listed in the exact order of occurrence due to back and forth discussions. I will try to do better our next meeting. Also I was unable to send this report to all that were present; I did not get everyone's email address. Thank you all for your participation.

Policy Subcommittee Chair, Ruby K. 216-240-0926

msrubyk@gmail.com

* NOTE* Our Extended Policy Subcommittee Meetings are every Wednesday at 1:00pm to 2:30pm on the Area LEGS Phoneline: 701-802-5120 Access Code: 525595# or Download the App: freeconferencecall.com the Meeting ID: legsarea



PUBLIC RELATIONS SUBCOMMITTEE

SUBCOMMITTEE REPORT

AUGUST 14, 2022

12 traditions read by Charles B.

12 Concepts read by Cecelia S.

11th step application of 1 minute

Sub-committee purpose and guidelines read by Ali A.

Old Business: previous months minutes read and accepted Discussed which posters we would use on poster day.

New Business: Met with Fellowship recovery ministries 1754 E 55th contact Deacon Brantley. Building is available and able to host NA meetings. Rent is 1 dollar and there is parking. NA member Cecelia S, stated willingness of service.

We'd like to have a learning day to explain navigation of our website.

Contacted ARC left a message phone called was not returned.

Proposal to have meeting schedules verified and printed so literature can make schedules available for Area LEGS. Update region meeting schedule information.

No objections to close

Meeting closed with a moment of silence and the serenity prayer.

Attendance: Phillip H., Cecelia S., Charles B., Walt Mc., Ali A., Marvin M., Thurman B.

ACTIVITIES SUBCOMMITTEE 8/18/22

MEETING OPENED WITH A MOMENT OF SILENCE FOLLOWED BY THE SERENITY PRAYER. TAMMI H. READ THE 12 TRADITIONS. ALI A. READ THE 12 CONCEPTS.

ONE MINUTE APPLICATION OF THE ELEVENTH STEP. PURPOSE AND GUIDELINES READ BY JACQUELINE J.

OLD BUSINESS: MINUTES READ—MINUTES ACCEPTED

PICNIC WAS A SUCCESS WE HAD WELL OVER ONE HUNDRED PEOPLE. I SPENT \$1,775.03 I WILL BE RETURNING \$425.00. WE COLLECTED \$56.00 IN FREEWILL DONATIONS. I HAVE BEEN DIRECTED TO SPEAK WITH MICHELLE P.W. OR DAWNE TO INVESTIGATE THE BOWLING PARTY.

WE TALKED ABOUT HAVING A TALENT SHOW/FASHION SHOW/DANCE.

I WILL LOOK INTO A PARK FOR NEXT YEARS BIRTHDAY CELEBRATION.
THE DATE WILL BE EITHER 7/22/23 OR 7/29/23. THE PARKS WE WILL BE
LOOKING AT WILL BE EDGEWATER, EUCLID BEACH OR EUCLID CREEK.

MEETING CLOSED WITH A MOMENT OF SILENCE FOLLOWED BY THE SERENITY PRAYER.

ATTENDANCE: NAP J., ALI A., WALTER Mc., PHILLIP H., ANTOINETTE B., TAMMI H., AND RUBY K.

GRATEFUL TO SERVE...ACTIVITIES SUBCOMMITTEE

AREA L.E.G.S. LAKE ERIE GENERAL SERVICES®

ACTIVITIES - MANAGING FUNDS

PRIORITIES -

4	MA WIA	maria	Sugar, pra	FI IMPER	Section 1	MANAMA SA	Phy in	dulin i pro	ALIMA	A4 54	Fre som mond	alle son alle.
1 :	LU WE	ICAC	Litt	LUILLS	W	commit		LIIIS	EVEIL	U		OHI

- 2. Will this event or function prevent the Area Service Committee or Subcommittees from functioning?

	What ideas and time are committed to this event or function
0	What is it [Theme]: NA BIRTHDAY
0	Where and when is it to be held: Windy Ridge Garfield What funds are needed to host the event or function: 1,000.00
9	What funds are needed to host the event or function: 1,008.00
*	What is the financial breakdown? [List below]
	1. Rent \(\frac{\infty}{1/Q_D} \(\frac{1}{Q} \)
	2. Food 1182.49
	3. Paper Products 385.85
	4. Disc jockey 100, 60
	5. Tickets (raffle, dance, etc.)
	6. Transportation
	7. Security
	8. Miscellaneous (if any; include cost) a. Charcal + Myhtler e. 106.69
	bf.
	cg.
	dh
	TOTAL PROJECTED EXPENSES \$ 1775.03

TURN IN ALL RECEIPTS TO THE AREA TREASURER

AREA L.E.G.S. – Lake Erie General Services®



LITERATURE SUBCOMMITTEE

AUGUST 21,2022

LITERATURE REPORT

Hello family literature is going very well this month. We spoke with PR concerning schedule books for the LEGS AREA. We spoke with region and there asking 70 cents each for schedule and they are the trifolds. We thought about the possibility of area legs making our own from the web site. We don't know who would be responsible to make them and also if area would be responsible for the cost. We're turning in \$2,301.80 for literature sales for the month. Also we're turning in a invoice and inventory sheet. We're also asking for our budget of \$1,500.00 to purchase more literature. Thanks for allowing us to serve.

Thurman B. Chair Tracy S. Vice-Chair

	Α	D								
1		В	С	D	E	F	G	Н		J
2		LAKE EDIE OFFICE AT A								
		LAKE ERIE GENERAL SEI)						
3		LITERATURE INVENTOR	Υ							
4		july/aug		1.33						
5									Cash	
6			Beginning	NAWS	Monthly	Ending	Unit	Cash	Amount	
7		Informational Pampl		order	sales	balance	Price		Sold	
8		Who, What, How & Wh	90		10		0.27	24.3		
9		The Group	94	-	10		0.36			
10		Another Look	231		10	231	0.27	62.37		
11		Recovery & Relapse	174		10		0.27	46.98		
13		Am I An Addict?	75	100	10		0.27	17.55		
14		Just For Today Living The Program	138 124	100	10	138	0.27	37.26	-	
15		Sponsorship	66		10 10	114 156	0.27 0.27	30.78 42.12		
16		Triangle of Self-Obsessi	59		10	49	0.27	13.23	-	
17		BY YOUNG ADDICT	260		10	250	0.27			
18		One Addict's Experienc	100	-	10	90	0.30	24.3	-	
19		PI And The NA Member	150		10	140	0.27	37.8	-	
20		For the Newcomer	147	100	10	237	0.27	63.99		
21		For Those In Treatment	204		10	194	0.36			
22	-	Self-Acceptance	155		10	145	0.27	39.15		
23		H & I and the NA Memi	177	0	10	177	0.27	47.79		
24	-	The Loner - Staying Cle	101	0	10	91	0.36			
25		Welcome to Narcotics	140		10	230	0.37	62.1	2.7	
26			47	100	10	137	0.27	36.99		
		Staying Clean on the O								
27		Hey! What's the Basket	0		5		0.61	-3.05		
28		Money Matters	78			78		47.58		
29		Self-Support	14			14	-	8.54		
30		Accessibility	100		5		0.27	25.65		
31		Parents/Guardians you	25		5		0.36			
32		Funding NA Services	79		5	74				
33		An Intro to NA Meeting			5	158	0.27	42.66	1.35	
34		mental health	178	V - 16 X	5			0		
35		Booklets/Handbooks				0		0		
36		PR Handbook	0			0	11	0		
37		Hospitals & Instiitution	0			0	11	0	-	
38		A Guide to Local Servic	6	2	1	7	1.85	12.95	1.85	
39		Convention Guidelines	0			0	4	0	0	
40		Literature Committee	0			0	3.1	0	0	
41		Group Treasurer's Bool	7	0	1	6	2.45	14.7	2.45	The class
42	1.46	An Introductory Guide	36			36	2.3	82.8	0	
43		Twelve Concepts for N	45	0	2	43	2.25	96.75	4.5	

		В	C	D	E	F	G	Н	1	J
-	Α	NA White Booklet, Nev	300	0		300	1.1	330	0	
44		The Group Booklet	51		7	44	1.1	48.4	7.7	
45	-	Working Step Four in N	49		2	47	0.9	42.3	1.8	
46		Behind the Walls	60		0	60	1.1	66	0	
47		In Times of Illness	69			69	3.6	248.4	0	
48		Disruptive Behavior	74			74	0.27	19.98	0	
49			0			0	0.36	0	0	1000000
50		NA Grps & Meds	15			15	0.36	5.4	0	
51		Social Media & Principl	10	50		60	0.45	27	0	
52		Na A Resource	10	30				0		
53		Key Tags	153	200	65	153	0.6	91.8	39	
54		Welcome	166	50	0	216	0.6	129.6	0	
55		Thirty Days		30	20	165	0.6	99	12	
56		Sixty Days	185		0	155	0.6	93	0	
57		Ninety Days	155		U	218	0.6	130.8	0	
58		Six Months	218			153	0.6	91.8	0	
59		Nine Months	153		0	124	0.6	74.4	0	
60		One Year	124		0	111	0.6	66.6	0	
61		Eighteen Months	111		20		0.6	88.2	12	
62		Multiple Years	147	50	20	147	0.0	0		
63		Medallions				10	2.6	64.8	7.2	Targette Salar
64		Bronze	20	0	2	18	3.6	04.8	0	
65		Bi-plated	177388	0	0	0	17.6		0	
66		Tripple-plated				0	26.85	0	0	
67		treasure pad	0			0	0.9	0	U	
68								0		<u> </u>
69								0		
70		Other Items Special Orde	ers					0	1	
71		Set of Group Readings	7	1	0	8	7.3	58.4	0	
72	S. S. Salvak	Basic Text Book Cover	0			0	5.25	0	0	
73		JFT Journal	0	1 : 1		0	15.25	0	0	
74		Medallion Holder	0			0	9	0	0	
75		Serenity Prayer Talking	0	i wa		0	10.5	0	0	
76								0		
77		NA Meeting Schedules	0	4 4 30 2		0	0.3	0	0	
78		NA Basic Text	1	76	20	57	13.35	760.95	267	
79		It Works - How & Why	39	0	10	29	10	290	100	
80		Just For Today - Daily	36	10	7	39	10	390	70	
81		The NA Step Working G	12	10	8	12	10	120	80	
		Living Clean	28	5	3	28	10.75	301	32.25	
82		Guiding Principles	18	0	2	16	12.25	196	24.5	
83		Sponsorship Book	4	0		4	9.25	37	0	
84		Special Order Items	0	0		0		0	0	

	A	В	С	D	E	F	G	Н	<u> </u>	J
86		Book Cover	0	0		0	15	0	0	
87		Miracles Happen	0	0		0	33.5	0	0	
88		Gift Edition Just For To	0	0		0	19	0	0	
89		Gift Edition Basic Text	0	0		0	30	0	0	
90		large basic text	3			3		5047.56		
91			SCHEDULES S	OLD	0		CHECKS TO	AREA	\$	

***** Invoice *****

Narcotics Anonymous World Services, Inc.
19737 Nordhoff Place
Chatsworth CA 91311-6601 USA
Federal ID No. 95-3090596
t+1/818.773.9999 e customer_service@na.org

Invoice number Invoice date Sales order number Customer number Service Rep Payment terms Shipped via: Tracking number

7/28/2022 090720 1029533 Jeffrey Rodriguez Check payment BestWay 276126662501

NAW-086044

Page

Invoice To: LAKE ERIF GENERAL SERV

c/o Tracy S Shaker Heights, OH 44122 USA

Your reference:

USA

Phone number

Some Hights, OH 45 -

Description	Shipped	Unit price	Amount
Basic Text Hardcover	76	12.15	923.40
Just for Today Daily Meditation Book	10	9.55	95.50
The NA Step Working Guides	10	9.00	90.00
Living Clean Hardcover	5	10.35	51.75
NA: A Resource in Your Community	50	0.42	21.00
A Guide to Local Services in NA	2	7.50	15.00
IP #8 Just for Today	100	0.23	23.00
IP #11 Sponsorship, Revised	100	0.23	23.00
IP #16 For the Newcomer	100	0.23	23.00
IP #22 Welcome to NA	100	0.23	23.00
IP #23 Staying Clean on the Outside	100	0.23	23.00
Group Readings (7-Card Set)	1	4.90	4.90
Recovery Keytags(English, Welcome, White)	200	0.56	112.00
Recovery Keytags(English,30 days,Orange)	50	0.56	28.00
Recovery Keytags(English,Multi-year,Black)	50	0.56	28.00

Net invoice	1,484.55
Less Invoice discount	96.50
Shipping & Handling	111.95
Sales tax	0.00
Invoice total (\$)	1,500.00

All prices and totals listed are in USD

Payment per 7/28/2022 12:00:00 AM

Contract of

Buckeye Regional Service Meeting Minutes

June 11, 2022

- 1) Meeting opened at 10:14 am with the Serenity Prayer and reading of the Twelve Traditions
- 2) Roll Call: 3 of 6 Areas were present
- 3) Previous Minutes: Motion to Dispense was passed with a vote of 3-0-0
- 4) Administrative Committee Reports
 - a) Chair Report -Eddie H., oral report
 - b) Vice Chair -vacant
 - c) Secretary -Lauren B., oral report
 - d) Alt. Secretary -vacant
 - e) Treasurer -Steve Z., oral report
 - f) Vice Treasurer -vacant
 - g) Regional Delegate -Mark S., electronic report attached
 - i) Interim WSC 2022 motions report
 - ii) DRT/MAT survey at na.org
 - iii) Webinars for full fellowship coming up on July 9, September 3
 - h) Alt. Regional Delegate -vacant
- 5) Regional Committee Members Reports
 - a) GLASCNA -Wil M. gave his report and the written report is attached
 - b) LEGS -not present
 - c) NEOASCNA -Joel B. gave his report and the written report is attached
 - d) TASCNA -Chuck A. gave his report and the written report is attached
 - e) WAGS -not present
 - f) WRASCNA -not present
- 6) Subcommittee Reports
 - a) Activities -open position
 - b) Hospitals and Institutions -open position
 - c) Literature -open position
 - d) Public Relations -Jesse G. gave her report and written report is attached
- 7) OCNA Report -Andy F., Mark T., and Jesse G. provided updates; official report to come at next meeting
- 8) Old Business -elections for positions
 - a) Chair: Eddie H. elected
 - b) Vice Chair: open position
 - c) Secretary: Lauren B. elected
 - d) Alt. Secretary: open position
 - e) Treasurer: Steven Z. elected
 - f) Alt. Treasurer: open position
 - g) Regional Delegate: open position
 - h) Alt. Delegate: open position
 - i) Activities: Chris D. stated willingness, elected
 - j) Hospitals & Institutions: open position
 - k) Literature: open position
 - 1) Public Relations: Jesse G. elected
 - m) OCNA Advisory Board 1: open position
 - n) OCNA Advisory Board 2: open position
 - o) OCNA Advisory Board 3: open position
- 9) New Business
 - a) Motion 6.11.22A \$200 for printing of schedules, passed (motion attached)
- 10) Sharing Session
- 11) Meeting closed

Next meeting: August 13th at 10am, Townhall II, Kent, OH.

THU CHICKEN		SERVICES. Group Report	
1 love will	1 -	- F 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
The spice was	1 X O GOODS	to stal corrie	
Atanaly -	A recovery.	Or give 0	
DET UT	to the These of	oney money	
95 10 40 add	ects atland 7	veekeg. J	
	-		
	A	and the same of th	
	anloweth	6,	
	GSR as	More Will Be Revealed 8.21.2022	
		8.21.2017	
BACK TO GROUPS SUI	BCOMMITTEE:	o hi hoh	
ION BY:	2 ND BY:		
AGAINST:ABSTENT	IONS:RESULTS:		
A SERVICE COMMITTEE VOTE 1			
AGAINST: ARRTENTIONS.	RESULTS:		
ADSTERTIONS:			

LAKE ERIE GENERAL SERVICES®



GROUP REPORT

NAME:_	NEW ATTITUDES
	UR GROUP IS STILL ON
	HE ZOOM PLATEROM
•	E HAVE ABOUT 25-30
	EOPLE ON LAST CHAIR
	ROOM WAS CELESS W
,	ARE DOING WELL
	7,571 0 70 0

Submitted By: Ray Mc.

Date: Aug. 21, 2022,

GROUP REPORT

Serenity On Sunday Mornings 8 21 2022

We meet every Sunday at 10:30 a.m.

We moved to a physical location 8/7/2022 and have experienced two successful meetings since that date. We are looking forward to continually carrying the NA message from our new location.

Our attendance has averaged 32 members per week, even so we are encouraging more experienced members to support us. Of the 32 members that have attended, 7 were experienced NA members, for we meet in a treatment/housing facility.

We are looking forward to seeing you there.

Our new location is 17608 Euclid Avenue, E. Cleveland, Ohio 44112.

We have no donation at this time!

In Service, the Group!

LAKE ERIE GENERAL SERVICES®

GROUP REPORT



NAME: Thank God I am Free Group
Greetings AIREA LIE, G.S. West T.G.I.Fis
doing well. The first, Third and Fifth week's
Topic Discussion, We like to thank Prayne D.
and Robert B. as our Parelist for July 22 nd
We like to thank Tony E, as chair person for
Hugust 2022, Thanks to Lelisha Hidsour
speaker for August 12, 2022. Groteful to serve, We average 60 addict per
to serve, We average 60 addict per
week.
Submitted By: Stan G.

Date: 21 August 2022

SEE LAST MONTH

ASC MINUTES

JULY 17, 2022

FOR THE

CURRENT

TREASURER'S

REPORT

AUGUST 21, 2022

JULY STATEMENT July 1 through July 29, 2022